Po¢HM

2 AT RE U B

4

(3x + 2)(3x% +2x — 3) — (4x — 6)(2x — 4)

(5x — 6)(6x + 3)(3x + 6)

(5x+ D(@x—6)(5x— 1)

(6x° + dx + 3)(dx + 4) + 6 x 2x + 3

(2% — 6+ 4)(4x— 1)+ 6 x 3x— 2

H #A: ban &

(5x+ 6)(* +x— 5)+ (3x + (3x — 3)

(4x* + 2x+2)(6x+3)+ 1 x3x— 6

(5x2 + 4)(5x—5)—x2 -x—35

(6x — 4)(2x* — 6x+ 3) — (4x — 2)(3x — 3)

(5x+ 2)(4x+ 6)(6x + 1)
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Po¢HM

2 AT RE U B

4

(Bx+ 2)(3x% + 2x— 3) — (4x — 6)(2x — 4)
O + 4o + 23x — 30

(5x — 6)(6x + 3)(3x + 6)
90x> + 117x% — 180x — 108

(5x+ D(@x—6)(5x— 1)
100x° — 150x> — 4x+ 6

(6x% + 4x + 3)(4x + 4) + 6 x 2x + 3
24x3 + 40X + 40x + 15

(2> — 6x+4)(dx— 1)+ 6 x3x—2
8 — 26x* +40x— 6

H #A: ban &

(5x+ 6)(x* +x— 5)+ (Bx + D(Bx— 3)
5+ 20x% — 25x— 33

(4% + 2x+2)(6x+ 3)+ 1 x 3x— 6
24x° + 24 +21x

(5% +4)(5x—5) - —x—5
25x° — 26x% + 19x — 25

(6x — 4)(2x% — 6x+ 3) — (4x — 2)(3x — 3)
123 — 56 + 60x — 18

(5x+ 2)(4x+ 6)(6x + 1)
120x° + 248x% + 110x + 12
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